



Day 1: accomodation in Senggigi; dive in Kecinan (afternoon - from shore; + night dive)

Day 2: Gili Islands (car & boat)

Day 2: Gili Islands (car & boat)
Day 3: Gili Islands (car & boat)

Day 4: transfer to Kuta - trip to waterfalls, Sasak village, Tanjun

Aan beach; accomodation in Kuta

Day 5: Kuta / Gerupuk (boat)
Day 6: Kuta/ Gerupuk (boat)

Day 7: Belongas (boat)





Scuba Bioggy

Agenda

1 stage:

Senggigi is located 0n the west coast of Lombok, 12 km from capital city - Mataram and around 1:15 hour from airport Praya.

Known as a popular and touristic town, with many gift shops, restaurants and bars, clubs with live music, local warungs, hotels and hostels.

A good starting point to visit Gili Islands. Direct speed boats from and to Bali.

2 stage:

Kuta is a small town located in the South of Lombok.

The scenery is spectacular, with cliffs and mountains reaching the coast to create inspiring landscapes and views. The beaches are some of the best in Indonesia, with pristine white sand, and transparent blue-greens in the water. Kuta has some of the best surfing in the world, so naturally many visitors are surfers.





Sculpadioggy

Dive spots

Gili Islands

(depends on conditions): Air Wall, Air Slope, Meno Wall, Secret Reef, Halik Point, Shark Point, Bounty

Kuta/Gerupuk

(depends on water conditions): Boro Bagik, JJ Air, Coral garden, Gerupuk slope ect.





Lombok trip / between diving

TRADITIONAL SASAK VILLAGE WATERFALL TANJUN AAN BEACH

On the way to Kuta visit famous traditional Sasak Village (Sade or Sakkara), admire one of the best waterfalls in Lombok (Kelambu or Benang Stokel) and relax at the faboulus, white sanded beach Tanjun Aan.







Accomodation / Senggigi – 1 option 4*

SHERATON SENGGIGI BEACH RESORT

- Sheraton Senggigi Beach Resort is a 4 star hotel in Senggigi Lombok, an idyllic tropical retreat in Lombok. Enjoy a comfortable getaway amidst plentiful sun, sand and surf.
- Ideally located on Senggigi Beach, the lush western coast of Lombok, the resort is just a short walking distance of the town's shops, restaurant and bars.
- SPA, tennis court, gym, diving center (Scuba Froggy office)





Accomodation/Senggigi – 2 option (medium)

KEBUN VILLAS & RESORT

Relaxing stays await guests at Kebun Resort, which has luxurious villas featuring private pools. Near a cliff and set amidst Lombok's natural landscapes, the property is a tropical oasis inspired by the concepts of natural living and modest luxury. Free Wi-Fi access are available.

Situated along Senggigi, Kebun Villas & Resort is a 2-minute walk from sandy white beaches and major dining facilities in Lombok.

With modern Balinese-style furnishings, the spacious villas feature a private deck and a home theater system with DVD player. In-room amenities include a fridge, bathrobes and slippers.





Accomodation/Senggigi – 3 option (budget)

Mama Bella's Retreat

Set amongst gardens and surrounded by palm covered mountains within a local village, you can unwind by the pool or take a short walk to restaurants, cafes, shops, massage/beauty salons and nightlife.

At dusk, the pleasure of watching the setting sun from many vantage points on beautiful Senggigi Beach is only a short stroll away





Accomodation/Kuta - 1 option (3*)

PURI RINJANI BUNGALOW

Offering an outdoor swimming pool and an on-site restaurant, Puri Rinjani Bungalows is a beachfront property located in Kuta in Lombok. free WiFi access is available in public areas.

This holiday park is only about a 2-minute walk from Kuta Lombok Beach and Lombok International Airport is reachable within 30 minutes by car from the property.

The bungalows at Puri Rinjani are air-conditioned and featuring a flat screen TV with satellite channel, a wardrobe, and a safety deposit box. The en suite bathroom features shower facility. There is also a terrace with seating area overlooking the lush garden and pool.





Accomodation/Kuta – 2 option (medium, 2*)

AEROTEL TASTURA

In a tropical landscape, Tastura Beach Hotel features an outdoor lagoon pool with hill views and massage services. Its air conditioned rooms are just steps from the sandy white beaches along Lombok's southern coast.

Featuring a private balcony with tropical views, the rooms offer dark wood interiors and a flat-screen cable TV. They come with a minibar and an open-air bathroom. Some rooms have a spacious sitting area.





Accomodation/Kuta – 3 option (budget)

LA BANKAT BUNGALOW

Cheap, excellent new place in Kuta: 6 hard bungalow with A/c, 4 bambu Hut with fan,

Breakfast inc nice pool in the middle of rice field, but walking distance to down town and free pick up drop off in town.

Great restaurant ex Novotel Chief. Best curry in town. He offers cooking classes.





Stubrathoggy

Rates (2 pax)

accomodation (2 pax) *	no.	price in USD	total in US
Senggigi:			
Sheraton	3	80	240
Kebun	3	46	138
Mama Bella`s Retreat	3	30	90
Kuta:			
Puri Rinjani Bungalows	4	42	168
Aero Tastura	4	. 37	148
La Bankat	4	. 35	140
transfer Senggigi - Kuta + trip	2	. 55	110
diving package (7 days-12 dives) – including discount **	2	500	1000

in high season prices for accommodation could increase till 20%

** includes: car & boat transportation, water, coffe/tea and snack on board, divemaster, diving equipment (note: dive computer – to rent)



About us

- We are certified PADI 5 STAR DIVE CENTER operating in Lombok (Indonesia) – from the Gili Islands, Kuta Lombok to the Belongas area.
- We work with high end hotel partners and you can find our offices at Novotel in Kuta (south coast), Sheraton in Senggigi and Kila Senggigi Beach Hotel and Pool Villas Club in Senggigi (west coast).
- Scuba Froggy is the ideal choice if you want to get away from the crowds and expect western standards in customer service. With small dive groups and small classes you can be assured of lots of attention from our fully qualified and experienced PADI dive staff.
 With daily dive, snorkeling trips, courses and experiences starting at times convenient for you, Scuba Froggy will aim to make your stay unforgettable.











Our boats in Senggigi & Kuta



SMART FROG:

Comfortable wooden boat addapted to diving with sundck.

Capacity: 14 divers



The bigges t& most comfortable diving boat in Lombok:

WC, shower, dry & wet zone, spacious sundeck with matresses., music, electricity.

Capacity: 20 persons



Comfortable wooden boat addapted to diving with sundck.

Capacity: 10 divers



Rubber boat addapted to local diving and night diving.

Capacity: 4 divers

